



Vendor Ranking

Letting: 06260129 January 29, 2026 11:00 AM **Call Order:** 009 **Contract:** E6Q14
District: District 6 **Counties:** DIST/ST-WIDE, MIAMI-
Contract Time: 365 CALENDAR DAYS **DADE** **Fed Aid No:** N/A
Contract Desc: DISTRICTWIDE BRIDGE MAINTENANCE IMPROVEMENTS - BRIDGE **Project(s):** 45794217201 (*)

Rank	Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	INTERSTATE CONSTRUCTION, LLC	Responsive	Winning bid	\$290,706.36	100.00%
2	JONES BENITEZ CORPORATION	Responsive	Non-Winning Bid	\$299,793.20	103.13%
3	STRUCTURAL TECHNOLOGIES, LLC	Responsive	Non-Winning Bid	\$387,839.43	133.41%
4	BRIDGE MASTERS CONSTRUCTION, LLC	Responsive	Non-Winning Bid	\$523,007.00	179.91%
5	M & J CONSTRUCTION COMPANY OF PINELLAS COUNTY, INC.	Responsive	Non-Winning Bid	\$544,791.06	187.40%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



Tabulation of Bids

Letting: 06260129 January 29, 2026 **Call Order:** 009 **Contract:** E6Q14
District: District 6 **Counties:** DIST/ST-WIDE, MIAMI- **Fed Aid No:** N/A
Contract Time: 365 CALENDAR DAYS **DADE** **Project(s):** 45794217201 (*)

Contract Descr: DISTRICTWIDE BRIDGE MAINTENANCE IMPROVEMENTS - BRIDGE

This Contract consists of performing maintenance repairs to Bridge No.870658 by removing existing asphalt, removing any loose grout from the existing shear keys, regrouting the shear keys between the slab units, restoring the existing asphalt pavement including the pavement markings, as well as replacing the nosing and expansion joints for the entire bridge in Miami Dade County.

The quantities shown on the Bid Price Proposal are approximate and only represent estimated planned requirements based on historical or specific project needs. The Department does not guarantee any maximum or minimum quantity, any range of quantities, or the exact quantities shown for each item to be bid. The Department's estimated quantities and the Contractors' bid price will be used to calculate a total bid amount. This total bid amount will then be used to determine the low bidder; however, actual payment under the awarded contract will be based on actual quantities completed. For this Contract in which specific site is not identified at the time of letting, the Engineer will issue a Work Document. Work Documents will identify the location, description, amount of work to accomplished, and the number of calendar days to complete the work.

Experience in Bridge Repair Form #850-070-04 must be submitted as an attachment with your electronic bid or your bid may be found non-responsive.

Award will be made at the Department Advertised Estimate Amount of \$347,602.00

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) INTERSTATE CONSTRUCTION, LLC		(2) JONES BENITEZ CORPORATION		(3) STRUCTURAL TECHNOLOGIES, LLC	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (BRIDGE DECK MAINTENANCE AND REPAIR (SF								
0005 0101 1 MOBILIZATION		(1.000) LS	58,000.00000	58,000.00	30,000.00000	30,000.00	38,000.00000	38,000.00
0010 0102 1 MAINTENANCE OF TRAFFIC		(1.000) DA (LS)	85,000.00000	85,000.00	30,000.00000	30,000.00	25,500.00000	25,500.00
0015 0102 14 TRAFFIC CONTROL OFFICER		256.000 HR	1.00000	256.00	100.00000	25,600.00	125.00000	32,000.00
0020 0102 60 WORK ZONE SIGN		1,614.000 ED	0.50000	807.00	0.30000	484.20	1.00000	1,614.00



Tabulation of Bids

Letting: 06260129 January 29, 2026 Call Order: 009 Contract: E6Q14

Line No / Item ID Item Description <i>() indicates item is bid as Lump Sum</i>	Alternate	Quantity Units	(1) INTERSTATE CONSTRUCTION, LLC		(2) JONES BENITEZ CORPORATION		(3) STRUCTURAL TECHNOLOGIES, LLC	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (BRIDGE DECK MAINTENANCE AND REPAIR (SF								
0025 0102 74 1 CHANNELIZING DEVICE- TYPES I, II, DI, VP, DRUM, OR LCD		5,120.000 ED	0.50000	2,560.00	0.15000	768.00	0.45000	2,304.00
0030 0102 76 ARROW BOARD / ADVANCE WARNING ARROW PANEL		160.000 ED	25.00000	4,000.00	8.00000	1,280.00	30.00000	4,800.00
0035 0102 99 PORTABLE CHANGEABLE MESSAGE SIGN, TEMPORARY		174.000 ED	1.00000	174.00	12.00000	2,088.00	80.00000	13,920.00
0040 0102115 TYPE III BARRICADE		320.000 ED	0.60000	192.00	0.40000	128.00	1.00000	320.00
0045 0104 11 FLOATING TURBIDITY BARRIER		100.000 LF	15.00000	1,500.00	30.00000	3,000.00	90.00000	9,000.00
0050 0327 70 8 MILLING EXISTING ASPHALT PAVEMENT, 2 1/2" AVG DEPTH		1,120.000 SY	7.68000	8,601.60	38.00000	42,560.00	24.00000	26,880.00
0055 0337 7 80 ASPHALT CONCRETE FRICTION COURSE, TRAFFIC B, FC-9.5, PG 76-22		159.500 TN	220.00000	35,090.00	420.00000	66,990.00	620.00000	98,890.00
0060 0400153 NON SHRINK GROUT, F&I, MISCELLANEOUS- STRUCTURES REHAB		80.000 CF	750.00000	60,000.00	500.00000	40,000.00	450.00000	36,000.00



Tabulation of Bids

Letting: 06260129 January 29, 2026 Call Order: 009 Contract: E6Q14

Line No / Item ID Item Description <i>() indicates item is bid as Lump Sum</i>	Alternate	Quantity Units	(1) INTERSTATE CONSTRUCTION, LLC		(2) JONES BENITEZ CORPORATION		(3) STRUCTURAL TECHNOLOGIES, LLC	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (BRIDGE DECK MAINTENANCE AND REPAIR (SF								
0065 0458 1 21 BRIDGE DECK EXPANSION JOINT, REHABILITATION, POURED JOINT WITH BACKER ROD		165.000 LF	40.00000	6,600.00	75.00000	12,375.00	310.00000	51,150.00
0070 0458 2 POLYMER NOSING FOR BRIDGE DECK EXPANSION JOINT		42.000 CF	650.00000	27,300.00	1,000.00000	42,000.00	490.00000	20,580.00
0075 0706 1 3 RAISED PAVEMENT MARKER, TYPE B		20.000 EA	4.00000	80.00	6.00000	120.00	25.00000	500.00
0080 0711 16101 THERMOPLASTIC, STANDARD-OTHER SURFACES, WHITE, SOLID, 6"		0.048 GM	4,335.00000	208.08	12,500.00000	600.00	209,540.00000	10,057.92
0085 0711 16131 THERMOPLASTIC, STANDARD-OTHER SURFACES, WHITE, SKIP, 6", 10-30 SKIP OR 3-9 LANE DROP		0.096 GM	1,350.00000	129.60	12,500.00000	1,200.00	65,266.56000	6,265.59
0090 0711 16201 THERMOPLASTIC, STANDARD-OTHER SURFACES, YELLOW, SOLID, 6"		0.048 GM	4,335.00000	208.08	12,500.00000	600.00	209,540.00000	10,057.92
0001 BRIDGE DECK Section Totals: MAINTENANCE AND REPAIR (SF)				\$290,706.36		\$299,793.20		\$387,839.43

Contract Grand Totals:	\$290,706.36	\$299,793.20	387,839.43
-------------------------------	---------------------	---------------------	-------------------



Tabulation of Bids

Letting: 06260129 January 29, 2026 Call Order: 009 Contract: E6Q14

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(4) BRIDGE MASTERS CONSTRUCTION, LLC		(5) M & J CONSTRUCTION COMPANY OF PINELLAS COUNTY, INC.		Unit Price	Ext Amount
			Unit Price	Ext Amount	Unit Price	Ext Amount		
SECTION: 0001 (BRIDGE DECK MAINTENANCE AND REPAIR (SF								
0005 0101 1 MOBILIZATION		(1.000) LS	100,000.00000	100,000.00	110,000.00000	110,000.00		
0010 0102 1 MAINTENANCE OF TRAFFIC		(1.000) DA (LS)	100,000.00000	100,000.00	91,000.00000	91,000.00		
0015 0102 14 TRAFFIC CONTROL OFFICER		256.000 HR	82.00000	20,992.00	130.00000	33,280.00		
0020 0102 60 WORK ZONE SIGN		1,614.000 ED	0.00000	0.00	0.29000	468.06		
0025 0102 74 1 CHANNELIZING DEVICE- TYPES I, II, DI, VP, DRUM, OR LCD		5,120.000 ED	0.00000	0.00	0.12000	614.40		
0030 0102 76 ARROW BOARD / ADVANCE WARNING ARROW PANEL		160.000 ED	0.00000	0.00	5.40000	864.00		
0035 0102 99 PORTABLE CHANGEABLE MESSAGE SIGN, TEMPORARY		174.000 ED	0.00000	0.00	14.40000	2,505.60		
0040 0102115 TYPE III BARRICADE		320.000 ED	0.00000	0.00	0.30000	96.00		
0045 0104 11 FLOATING TURBIDITY BARRIER		100.000 LF	10.00000	1,000.00	20.00000	2,000.00		



Tabulation of Bids

Letting: 06260129 January 29, 2026 Call Order: 009 Contract: E6Q14

Line No / Item ID Item Description <i>() indicates item is bid as Lump Sum</i>	Alternate	Quantity Units	(4) BRIDGE MASTERS CONSTRUCTION, LLC		(5) M & J CONSTRUCTION COMPANY OF PINELLAS COUNTY, INC.		Unit Price	Ext Amount
			Unit Price	Ext Amount	Unit Price	Ext Amount		
SECTION: 0001 (BRIDGE DECK MAINTENANCE AND REPAIR (SF								
0050 0327 70 8 MILLING EXISTING ASPHALT PAVEMENT, 2 1/2" AVG DEPTH		1,120.000 SY	65.00000	72,800.00	30.00000	33,600.00		
0055 0337 7 80 ASPHALT CONCRETE FRICTION COURSE, TRAFFIC B, FC-9.5, PG 76-22		159.500 TN	550.00000	87,725.00	404.00000	64,438.00		
0060 0400153 NON SHRINK GROUT, F&I, MISCELLANEOUS- STRUCTURES REHAB		80.000 CF	500.00000	40,000.00	1,500.00000	120,000.00		
0065 0458 1 21 BRIDGE DECK EXPANSION JOINT, REHABILITATION, POURED JOINT WITH BACKER ROD		165.000 LF	150.00000	24,750.00	95.00000	15,675.00		
0070 0458 2 POLYMER NOSING FOR BRIDGE DECK EXPANSION JOINT		42.000 CF	1,250.00000	52,500.00	1,500.00000	63,000.00		
0075 0706 1 3 RAISED PAVEMENT MARKER, TYPE B		20.000 EA	10.00000	200.00	10.00000	200.00		
0080 0711 16101 THERMOPLASTIC, STANDARD-OTHER SURFACES, WHITE, SOLID, 6"		0.048 GM	120,000.00000	5,760.00	48,958.33000	2,350.00		
0085 0711 16131 THERMOPLASTIC, STANDARD-OTHER SURFACES, WHITE, SKIP, 6", 10-30 SKIP OR 3-9 LANE DROP		0.096 GM	120,000.00000	11,520.00	24,479.17000	2,350.00		



Tabulation of Bids

Letting: 06260129 January 29, 2026 **Call Order:** 009 **Contract:** E6Q14

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.